AC... X

Kon 10 14 18 25 33 42
5216,%:4"" ecm | 45| 63 | 80 | 13| 15 | 19
HomuHanbHoe
naBnenue Bar | 175 175 175 | 175 | 140 105
Makc.
AaBneHue Bar | 200 200 200 200 170 130
MuH. yacToTta Min
BpaLieHMA 4 | 650 | 650 | 650 | 650 | 650 | 650
Makc. yactota Min
BpaLICHNs 4 | 3500 | 3500 | 3500 | 3500 | 3500 | 3500
A A(C) . X A(C)..XT
L S2=0,029
Y : Y .”173 2
@ © 274 %
o 15.3) -
O\ ] =
L ) :3 s Ta
- o Tl . -
L %
—r 4 |M[s o
/ é dNE: 0E o B )
Ae
VAN I e =
Bxozl 714 A WX -CTAHOAPTHOE UCIMONHEHNE
‘ ! B .. XT -TPYBHAA PE3bBA (BSP)
... XTM -METPUYECKAA PE3bBA
Pa3mepsbl
Pabouunn
Kon 06BEM Bxon
A B
E | d | F | M | G|E | d | F | M G
cm¥/06 mm mm “ mm “
A(C)10X... 45 42 91 30,2 M6 13,1 | M20X1,5 | G 1/2| 30,2 | M6 | 13,1] M16X1,56 | G 12
(C)
A(C)14X_.. 6,3 42 91 30,2 M6 13,1 | M20X1,5 | G1/2] 30,2 | M6 [ 131 ] M16X15 | G1/2
A(C)18X... 8,2 42 91 30,2 M6 13,1 | M20X1,5 | G 1/2| 30,2 | M6 | 13,1 | M16X15 | G 1/2
A(C)25X... 11,3 48 102 39,7 M6 19 | M20X1,5 [ G1/2] 30,2 | M6 14,2 M16X15 | G1/2
A(C)33X... 15 48 102 39,7 M6 19 | M20X1,5 | G1/2] 30,2 | M6 | 14,2 | M16X1,5 | G1/2
A(C)42X... 19 51 109 39.7 M6 19 | M20X15 | G1/2] 302 | M6 [14.2 | M16X15 | G1/2

36

www.ostec-pg.ru | Ten.: (495) 788 4444, nob6. 6515, 6580; chakc: (495) 788 4442



